[image: image1.png]7. Longitudinal Waves: The Operating Scale of Human Hearing A sinusoidal sﬂound
wave at middle C = 262 Hz is incident on your eardrum with intensity 2 x 10 W/m®.
Assume:

V somd = 331 m/s

Pair = 1.29 kg m®

po =1Atm = 1.01x 10° N/m?
y =14

a) What are the amplitudes of the displacement and pressure waves at your eardrum?

b) What is the sound intensity in dB relative to the “intensity standard” of 1.0 x10™2
W/m? (the threshold of human hearing)?




(Please show each step of your solution and FINAL ANSWERS. Thank you.)

